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QUESTION 1

Which of the following descriptions about categories of cloud computing are correct? (Multiple Choice)
A. Google mode is big divided into small

B. Amazon mode is small aggregated into big

C. For Amazon mode, The current application can directly or simple reconstruction can run on the cloud computing
platform

D. For Google mode, it is related to the specific application, and only the newly-developed applications can run on the
cloud platform.

Correct Answer: CD

QUESTION 2

RAID 1 simultaneously writes the same data onto each disk so that data is identical on all member disks. So RAID 1 can
tolerate the failure of a single disk.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 3

Which of the following hard disk key indicator description is incorrect?

A. Hard disk capacity is measured in MB or GB

B. Hard disk capacity is only related to single platter capacity

C. The rotational speed is the number of rotations made by hard disk platters per minute
D. IOPS is the input/output operations or read/write operations per second

Correct Answer: B

QUESTION 4

FC spreading to TCP/IP/Ethernet mainly has 4 roads including IPSAN, FCIP, iFCP and FCoE. Which of them now is
leading the trend?

A. IPSAN

B. FCIP
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C.iFCP
D. FCoE

Correct Answer: D

QUESTION 5

Self-service and rapid deployment provide users apply for schedule resources, and pay for and query bills in self-service
mode. This requiring administrator\\'s operations.

A. TRUE
B. FALSE

Correct Answer: B
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